Technical Description

CoboShift Tool Changers ATC/MTC18

MO0121-1

Tool changers | Swivels | Swivel tool changers | Grippers | Hose packages | Valve units | Tool systems

COBOSHIFT)

i

/5~ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden



CONTENTS

L1 INTRODUCGTION ...ttt e e e et e e e e e et e e a e aneens 4
1.1 RSP OO0l CRANGET ..ottt 6
1.2 DOCUMEIES ...ttt ettt e e ettt e e e e et ettt e e e e e e et e eettb e e e e e e e e e enbba e e eeaeas 6
1.3 WWBAK PAITS. ... ettt e e e et e e e et e e e 6
1.4 Complementary @QUIPMENT ........ooviiiiiiiiiiii ettt 6

2 TECHNICAL SPECIFICATIONS ... e e 7
2.1 Description of tool changers and tool attaChments .................evvviiiiiiiiiiiiiiiiiis 7

2.1.1 Coordinate System Definition ...........oooiiiiiiiiii e 8
2.1.2 CoboShift Tool Changer, ATC18-4. Article: PL181.......ccccoiiiiieiiiiiieeeiee e 9
2.1.3 CoboShift Tool Attachment, ATA18-4. Article: P1182 .......cccoooiiiiiiiiiiieeeiiiieeeee e 10
2.1.4 CoboShift Manual Tool Changer, MTC18-4. Article: P6018 .........cccceevveeiiiiiiiiiiieee e 11
2.1.5 CoboShift Manual Tool Attachment, MTA18-4. Article: P6019........cccccevviviiiiiiieeeeeiiins 12
2.1.6 Pneumatic diagram for CoboShift tool changer ATCL18/ATALS ........covveeiiiiiiiiiieeeeeiiens 13
2.1.7 Pneumatic diagram for CoboShift manual tool changer MTC18/MTALS........ccccceeeiinnnes 13
P2 | o] 1o 3 14
2.2.1 CoboShift Signal Module, 8 signals, robot side. Article: P1179.....ccccccceeiiiiiiiiiieneeeiins 14
2.2.2 Circuit diagram EOQL85-087 fOr PLL79 .. ... 15
2.2.3 CoboShift Signal Module, 8 signals, tool side. Article: P1180 .......ccccooeeiiiiiiiiiiiiciceceenn 16
2.2.4 Circuit diagram E0185-088 fOr PLL80.......cccoiiieeiiieiiei e 17
2.2.5 CoboShift Signal Module, 15 signals, robot side. Article: P1189.........cccoooeeiiiiiiiiiiiiiienn, 18
2.2.6 Circuit diagram E0185-100 fOr PLL89 ..o 19
2.2.7 CoboShift Signal Module, 15 signals, tool side. Article: P1190 .......ccccooeiviiiiiiiiiiiiicceenn, 20
2.2.8 Circuit diagram EO0185-101 fOr PL1O0 ... ..o 21
2.2.9 CoboShift power and signal Module, 7 signals, robot side. Article: P1193...................... 22
2.2.10 Circuit diagram E0185-103 fOr PL193 ......ccocuiiiiiiiiiie ittt 23
2.2.11 CoboShift power and signal Module, 7 signals, tool side. Article: P1194 ...................... 24
2.2.12 Circuit diagram E0185-102 fOr PLLO4 .......cocuiiiiiiiiiieeiiiiee et 25
2.2.13 Tool stand kit for CoboShift ATC18-4 and MTC18-4. Article: P1185..........cccccceveeeiinnes 26

B O P A RE PA R T S e 27
3.1 Part list for CoboShift tool changer PLL8L............uuuuuiiiiiiiiiiiiiiiiiiiiiieiieieiienienneneennnnees 27
3.2 Part list for CoboShift manual tool changer PE018 ...............uuuuiiiiiiiiiiiiiiiiiiiiiiiiiiinaens 28
3.3 Part list for CoboShift signal module P1179 and P1189........ccccooieiiiiiiiiiiiiieeeeeeeeeeen, 29

3.4 Part list for CoboShift signal module PL193..........coiiiiiiiiicee e 30



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
CiRo

Grippers

Hose Packages
Valve units

Tool systems

Tool parking systems

Robot System Products’ tool changers are constructed to maximize the flexibility and reliability
of your robot fleet. Through our patented locking device TrueConnect™ robustness and high
safety are combined with low weight and compactness. With our swivels compressed air, water,
electrical and data signals as well as weld and servo power are transferred to your tools with
robot motion capabilities fully maintained. Our swivel tool changers unite the TrueConnect™
mechanism with our swivel technology, combining the best out of the two technologies. With
RSP’s cost-effective CiRo, cables and hoses can be freely selected with high robot flexibility
maintained, and space requirements reduced. Our integrated tool systems are delivered as
complete plug-and-play solutions designed for quick and simple installation.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
robotsystemproducts.com.

MO0121-1 version 3.4 5


https://robotsystemproducts.com/

1.1 RSP tool changer

The Robot System Products’ tool changers enable robots to handle and switch between multiple
tools. They are built to ensure reliable and smooth operation, being compact with low weight and
robust design and incorporating many safety features. Depending on model and options,
electrical signals, weld and servo power, data, water and compressed air are transferred from
the robot side to the tool.

The patented locking device TrueConnect™ has a minimum of play and gives a practically,
through the lifespan, absolute positioning repeatability. The principle behind the locking
mechanism is the uniform distribution of load obtained by pressing locking balls into spherical
grooves. In consequence, substantially larger positional tolerances are accepted during docking.

1.2 Documents

This Technical Description contains product information and data, drawings, circuit and
pneumatic diagrams and lists of spare parts. In the document Installation and Maintenance
(M0119-1) procedures for mounting, installation and replacement of equipment are described
together with descriptions of inspection, cleaning and lubrication activities including
recommended maintenance intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

o Signal pins
o Air sealings
o  O-rings

1.4 Complementary equipment

Complementary equipment is described in separate documents.

Article Note

External valve units Mounted at the rear of the upper arm. Shuts off the air
automatically during tool changing.

Tool parking systems RSP tool parking systems give rigid installations for easy tool
changing.

Connection kits Connection kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works®, STEP and Parasolid-format.

6 M0121-1 version 3.4



2 TECHNICAL SPECIFICATIONS

2.1 Description of tool changers and tool attachments

This document presents the Robot System Products CoboShift tool changers ATC18 and
MTC18 including tool attachments dedicated for collaborative robots. Likewise presented are
adaptation kits and a tool stand kit.

The tool changers ATC18-4 and MTC18-4 transfer compressed air to the tool, they cannot
transport fluids. ATC18 and MTC18 can be equipped for transfer of electric and power signals,
via spring loaded signal pins, power pins and sockets, to the tool attachment.

For other bolt circles adaptation plates between the tool changer and the turning disc on the
robot may be needed. Such adaptation plates are available from RSP.

There may be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

ATC18-4 with P1179 mounted

MO0121-1 version 3.4 7



2.1.1 Coordinate System Definition

A tool changer adds load to the robot. If the arm and tool loads are not stated correctly during
programming the behaviour of the robot and the wear of the equipment will be affected.
Information about weight and centre of gravity can, in accordance with the co-ordinate system
stated below, be found in the technical specification tables of the tool changer.

NOTE! For the CoboShift tool changers with or without tool attachment, the origo
of the co-ordinate system is situated in the centre of the robot mounting flange.

(=@

8 MO0121-1 version 3.4



2.1.2 CoboShift Tool Changer, ATC18-4. Article: P1181

O

64

CoboShift tool changer P1181 transfers 4 pneumatic channels to the CoboShift tool attachment
and has separate inlets for Open TC and Close TC. To be used together with tool attachment

P1182.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

ISO 9409-1 50-4-M6

Maximum tool load Fz (static) +180 N
(M6-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +130 Nm
Maximum tool load Fz (static) +180 N
(M6-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) +75 Nm

Weight and centre of gravity (2)

P1181
P1181+P1182

0.35kg /16 mm
0,45 kg / 20 mm

Air channels

Pneumatic diagram
User channels, robot side
Dedicated channels (2 x M5)

Air quality

See section 2.1.6

4 x M5 (185 I/min, max 10 bar)
Open TC marked O (6-10 bar)
Close TC marked C (6-10 bar)

Oil-clean and waterless filtered air, with
max 25um particle content

I=le

NOTE! One position pin is included in the delivery. To be mounted, if required, by

the customer in the @ 5 mm hole.

MO0121-1 version 3.4



2.1.3 CoboShift Tool Attachment, ATA18-4. Article: P1182

064 15
[ 450

_>

O

D 6 H7(2x)

O

R37(4x O |

RIS BT

CobosShift tool attachment P1182 transfers 4 pneumatic channels to the tool. To be used
together with tool changer P1181.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO 9409-1 50-4-M6
Weight 0.10 kg
Maximum tool load Fz (static) +180 N
(M6-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +130 Nm
Maximum tool load Fz (static) +180 N
(M6-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) +75 Nm
Maximum tool load Fz (static) +180 N
(M5-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +90 Nm
Maximum tool load Fz (static) +180 N
(M5-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) + 55 Nm
Air channels Connections, tool side 4 x M5
O NOTE! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

10 MO0121-1 version 3.4



2.1.4 CoboShift Manual Tool Changer, MTC18-4. Article: P6018

A 26,5

@ 6mé

90°(3x)

Mé(4x

~ IN
i

o 5

CoboShift manual tool changer P6018 transfers 4 pneumatic channels to the CoboShift tool
attachment. To be used together with tool attachment P6019.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO 9409-1 50-4-M6
Maximum tool load Fz (static) +180 N
(M6-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +130 Nm
Maximum tool load Fz (static) +180 N
(M6-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) +75 Nm
Weight and centre of gravity (2)
P6018 0.41 kg /16 mm
P6018+P6019 0,53 kg /20 mm
Air channels Pneumatic diagram See section 2.1.7
User channels, robot side 4 x M5 (185 I/min, max 10 bar)
Air quality Oil-clean and waterless filtered air, with max
25pum particle content

i NOTE! One position pin is mounted in the @ 5 mm hole.

MO0121-1 version 3.4 11



2.1.5 CoboShift Manual Tool Attachment, MTA18-4. Article: P6019

f—"\\4 o

32(3x)

.

R37(3x)

90°(3x)

15,5

il

Mé(4x)

& 10(4x

o

CoboShift manual tool attachment P6019 transfers 4 pneumatic channels to the tool. To be used
together with tool changer P6018.

Technical data

Working temperature +10°C - +50°C
Bolt pattern 1ISO 9409-1 50-4-M6
Weight 0.12 kg
Maximum tool load Fz (static) +180 N
(M6-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +130 Nm
Maximum tool load Fz (static) +180 N
(M6-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) +75 Nm
Maximum tool load Fz (static) +180 N
(M5-screws, 12.9) Mx/My (dynamic) +130 Nm
Mz (dynamic) +90 Nm
Maximum tool load Fz (static) +180 N
(M5-screws, 8.8) Mx/My (dynamic) +130 Nm
Mz (dynamic) + 55 Nm
Air channels Connections, tool side 4 x M5
® NOTE! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

12

MO0121-1 version 3.4



2.1.6 Pneumatic diagram for CoboShift tool changer ATC18/ATA18

Tool Changer

—

Tool Attachment

1 (air-1 to 10 bar)
2 (air-1 to 10 bar)
3 (air-1 to 10 bar)
4 (air-1 to 10 bar)

5 CLOSE (air 6 to 10 bar)
6 OPEN (air 6 to 10 bar)

4 (air-1 to 10 bar)
3 (air-1 to 10 bar)
2 (air-1 to 10 bar)
1 (air-1 to 10 bar)

2.1.7 Pneumatic diagram for CoboShift manual tool changer MTC18/MTA18

Tool Changer

—

Tool Attachment

1 (air-1 to 10 bar)
2 (air-1 to 10 bar)
3 (air-1 to 10 bar)
4 (air-1 to 10 bar)

4 (air-1 to 10 bar)
3 (air-1 to 10 bar)
2 (air-1 to 10 bar)
1 (air-1 to 10 bar)

MO0121-1 version 3.4

13



2.2 Options

2.2.1 CoboShift Signal Module, 8 signals, robot side. Article: P1179

Connector M8 8p

CobosShift Signal Module P1179 transfers 8 electrical signal to the CoboShift tool attachment.
Can be mounted at two different positions on the tool changer. To be used with module P1180
mounted on the tool attachment.

Technical data

Weight 0.05 kg

Electrical signals Circuit diagram E0185-087 (section 2.2.2)
Total signals 8 X (1A, 30V)
Connection, robot side M8 8P (12007)

14 MO0121-1 version 3.4



2.2.2 Circuit diagram E0185-087 for P1179

= . [ [
A FOV 0| g Nwo mw —‘om €V | sjonpoJd \\ aarouddv | 3iva i zo_E_momm% [ a3y | szN_ wmo._mw_bm_
(sabed jo ‘oN) aBed | -aey (aweuay) “ou Juawnoog Jewno4 l\\ N3y L weJGeip ynaitQ 0l PoIKaUUOY
Ajiwey yoedssalp 0} Buipioooy . !
UOREDIUNWWOY wumm:__b__.&ml uonduosag or £q panosddy Ow F —‘& .Q_DUOE <|_l OC_SOHNE
6/11d 8npow |eubis O | ki b S
uonduoseq ZI Aq peubiseq -
UONOBUUOD JBWOISND _
wesBep }iNoJID 0} PajosuuoD)|
3 3
r
r4xaz44%
19BJUOD) XIUSOYY
" LO0ZI:ON MY i ‘
d8-8IN Sl i
iy - ER g
- UoI}ISO <) —
1] M €l | g -
k- SINId g
6
: - X399 g ;
Lim= MOTIIK T
- N3399 g
il g - NMO98 . B
b 3LIHM M
yowosgm | G WHWY 170 e
q aqoudjeubls 012 L4
S [ el

6.1 1d 8inpow |eubis 9|

15

MO0121-1 version 3.4



2.2.3 CoboShift Signal Module, 8 signals, tool side. Article: P1180

Connector M8 8s

R60

U U

CoboShift Signal Module P1180 transfers 8 electrical signal to the tool. Can be mounted at two
different positions on the tool attachment. To be used with module P1179 mounted on the tool

changer.

Technical data

Weight 0.03 kg
Electrical signals Circuit diagram E0185-088 (section 2.2.4)
Connection, tool side M8 8S (11163)

16 MO0121-1 version 3.4



2.2.4 Circuit diagram E0185-088 for P1180

. [ v 3 [ 2 1
A FOV 0| 4 880-68103 €V | sjonpoJd \ Q3A0HdaV | alva NOILdINOS3a [ Azw T anoz] /80-G8103
(sabed jo -oN) abed| Aoy (aweualy) ‘ou Juawnoog JETIE] l\ 1 weiBelp ynou 0} PRROAUU0Y
Ajiwey yoedssalp 0} Buipioooy
UOREDIUNWWOY wu_mm_ / 1IvlBsed uonduosag or £q panosddy X
081 L d @|npow [eubis | V0V 6.l 1d :@|npow D] Buiyojen
uonduoseq ZI Aq peubiseq
UONOBUUOD JBWOISND _
wesBep }iNoJID 0} PajosuuoD)|
3
Leevevi
10BJUOD XIUBOY]
€9LLI'ON BV
0 _
B D) ]
’8 ENT]
3
7L ERNEI
B, -
J ) ANIA LL
B, -
G AJHO 6
D -
| g MOTT3A Z
D -
°¢ N33d9 S
N ‘/
2 Nwogg ¢
D, -
' | 3LHM |
| ol W |0
[ sesnomne 81101 uid aoeuajul

08l Ld ainpouw [eubis v |

w

17

MO0121-1 version 3.4



2.2.5 CoboShift Signal Module, 15 signals, robot side. Article: P1189

Connector M8 8p (2x)

R0

f\\

U U

CobosShift Signal Module P1189 transfers 15 electrical signal to the CoboShift tool attachment.
Can be mounted at two different positions on the tool changer. To be used with module P1190
mounted on the tool attachment.

Technical data

Weight 0.06 kg

Electrical signals Circuit diagram E0185-100 (section 2.2.6)
Total signals 15 x (1A, 30V)
Connection, robot side 2 x M8 8P (12007)

18 MO0121-1 version 3.4



2.2.6 Circuit diagram E0185-100 for P1189

A—‘Ov L0 < oo —\Imw Fom €V | sjanpoud .\\. nm>om&_\_ 3iva _¢ zo_E_mOmmM _ [N szN_ roF.Wm_,om

19

(sabed jo -oN) 8bed | Aoy (sweuay) ‘ou Juawnoog Jeuwno4 \ L _ _ _ _ | weuBelp Yna4Q 0} PaKeUUD

Ajiwe) yoedssalp 0} Buipjoooy

UONEDIUNWWOY w.mm:_m__m.ﬁn uonduosag r_._-_\/_ £q panosddy Om F Fﬁ— uo_DUOE <|_l mC_EOH.NE

68l 1d einpow |eubis O | \z8oveoe
NH

uonduoseq Aq peubiseq

uodo|uUU0 JBwoisny
weJBelp Jnoui) 0} pajosuLoy

apis Jeay
O

C a3y
318
MNId
A399

MOTIZK

NEERE]

NMOYE

3LTHM

i

¢8ANOlL

c\lw)d-mcoi

o

e
TEEREN
1Ll

l5

a3d
3nig
ANId
AJHO
MOTI3A
N3349
NMO A4
JLIHM

el
-~
wJ

'8N OL1

11111111
—| o ™ < 1| © ~
11iinni

_ 195008 “Ym N w C\_.V _‘O
+  eqoideubis .

L |

|

|

1
681 1d 8inpow |eubis 91

w

MO0121-1 version 3.4



2.2.7 CoboShift Signal Module, 15 signals, tool side. Article: P1190

Connector M8 8s (2x)

R60

OO0O0O0O
OO0O0O0
OO0OO0

U H

CobosShift Signal Module P1190 transfers 15 electrical signal to the tool. Can be mounted at two
different positions on the tool attachment. To be used with module P1189 mounted on the tool

changer.

Technical data

Weight 0.03 kg
Electrical signals Circuit diagram E0185-101 (section 2.2.8)
Connection, tool side 2 x M8 8S (11163)

20 MO0121-1 version 3.4



2.2.8 Circuit diagram E0185-101 for P1190

A—‘Ov Lo v 101-G8103 €V | sj3anpoJd .\\. nm>om&_\_ a1va _¢ zo_E_mOmmM ! EEY _szN_ ooTWm_,om
(sebed jo ‘oN) abed | ‘Asy (aweus|y) ‘ou Juawnoog Jeuo \ _ _ _ _ “ weiBelp yn2Ji9 0} PROBUUOY
Ajiwe) yoedssalp 0} Buipjoooy 4
UONEDIUNWWOY w.mm:_m__m.an uonduosag r_._._>_ Aq panosddy .
061 L d dS| enpow jeubis | 2280V 68l Ld :@npow | Buiyoye
uonduoseq ZI Aq peubiseq —
uoljosuu0d Jswoisnyd
weJbeip ynouID 0} PajosuLoD
apIs Jeay
oL ¢l
3 o m/ \ 9\ -t
. N
3 D) y/ X )
’8 a3g
|| N ) ||
7 Tar e v Ml
uo v_Z_n_N_,I Zl €9LLION BY
<
of 7S PERRIo ;
L -
= ¥ MOTI3A 8
%
ARG NI o
|| S ||
“Z nwogg v
5
7T A e
L 1
3 J 3
Dy f -
8 a3ysl1 apIs jJuol4
J Q Q
i >Z Inaer | R a
%
s >g SN
%
=S X399 m“_ \Vms_
1 & MOTIEA 2 | ® 5 :
- D -
¢ ! N3FHO S . ﬁv /
S | - : N /
& Nmoyg ¢ | Z'6IN
B > - - »
|7 3LHM L L
| 2 cwuwiyL'0 v 0L €l
i P oidcerd o 81101 uid soepaul
v v
8 [ L [ 5 [ c [ v | € I 2 1

21

MO0121-1 version 3.4




2.2.9 CoboShift Power and Signal Module, 7 signals, robot side.
Article: P1193

Connector M8 3p Connector M8 4p

CobosShift Power and Signal Module P1193 transfers 4 electrical signals and 3 power signals to
the CoboShift tool attachment. Can be mounted at two different positions on the tool changer. To
be used with module P1194 mounted on the tool attachment.

Technical data

Weight 0.07 kg
Electrical signals Circuit diagram E0185-103 (section 2.2.10)
Total signals 4 x (1A, 30V), 3 x (4A, 60V)
Connection, robot side M8 4P (12033),
M8 3P (11168)

22 MO0121-1 version 3.4



2.2.10 Circuit diagram E0185-103 for P1193

A_‘Ov 10 < mo —\lmw —\OM €V | sjonpoud \ 8>Om&_\ [ 3w _. ! zo_t_moﬁom | =N szN_ .__o:ow::oun_wh:ﬂmso
(sobed o ony otea| no (euweueny ouwouroog|  eusoy T _ I I 1 1e150p Uit 0 poIBEUT)
I
€61 1 d e|npow Jamod,eubis o1 i
usseq NH £q paubiseq ||
8] ,
¥611d :8inpow Y1 Buiyojepy _\ ..... I“ o o I..". ....... |“
3 3
_
I _
] — |
_ @]
_ =
; - _ -
0 ed ngd ¢ t
ﬁm © %ab © | ™z s e
¢ — b WUQ - Ng .
L @) Q) ; . —_— L
N S—— ~ 1
_
I |
; _ _ _ i
7 _ _ _
_ _
7 _
N =I5 NE 2 s N
_ TS ng T _ =
. s m z 2 .
|- Ng T
_lumv_uww ;m_\s_ NC\_EmN.O _ _
| ol — — L] |
dg sjew z'gW
€61 Ld 8inpow Jamod/jeubis 9|
v ¥
8 [ L [ 5 | s I y | e I 2 I !

sAS 3000y UapPRIOS KR4S 5|

FES

23

MO0121-1 version 3.4



2.2.11 CoboShift power and signal Module, 7 signals, tool side.
Article: P1194

U

CobosShift Power and Signal Module P1194 transfers 4 electrical signals and 3 power signals to
the tool. Can be mounted at two different positions on the tool attachment. To be used with
module P1193 mounted on the tool changer.

Technical data

Weight 0.05 kg
Electrical signals Circuit diagram E0185-102 (section 2.2.12)
Connection, tool side M8 4S (12034),
M8 3S (10029)

24 MO0121-1 version 3.4



2.2.12 Circuit diagram E0185-102 for P1194

[ [
:‘Ov 0| V 201-98103 €Y | sjonpoud \\ a3nouddy | ava _. zo_E_mummom [ nan ] szN_ mor._mwrom
(sabed jo ‘oN) abed A9y (aweusyy) ou juswnaog JewIo4 — — _ _ “ WEB9 B UIID 0 pEtomUOD
Aty yoedssaip o} Buipiosoy \ 3
——T — (S e— .
¥611d @npow Jamod/eubis v | 02-60v20C €61 1d :@eInpow O] Buiyoey
uonduassg NH fq paubiseq -
:o_ﬂomﬂ:oo Jswoysh) _
3 3
- | _ _ __ N
_ _
| _ _ |
_ _
_ _
_ _
| 3l ;
=l
IR g cam
| i 5 - |
v g ¢d
-
T NG
L |
2 3
.
- S _
_
| ! |
= _
0 |
< 5 i
| ® Y RS ‘
- V m Dm @W - SE 9jews) Z' 8N s
N Sy sjewsy L '8N
| ’Z M s |
-
AT NE s
ZWWGZ 0 ) _
| S . A — - . AT RN
d 61 1d @|npow Jamod,/jeubis 9| '
8 [ L [ 5 [ s | v € | 2 | i

25

MO0121-1 version 3.4



2.2.13 Tool stand kit for CoboShift ATC18-4 and MTC18-4. Article: P1185

§B\ @ 6,4

[ 3@ ©s

17

&
5 N
0
</
25
50
70
8
&
A @
. \E/gmmp\
| 15

30

D 6,6(2x)

The tool stand kit P1185 is divided in two parts, one tool stand table (P1183) to be mounted on a
tool stand and one bracket (P1184) to be mounted with a CoboShift tool attachment P1182,
P1188 or P1192.The combination gives a robust tool stand solution for easy tool changing.

Technical data

Weight (bracket mounted on tool attachmen

t)

0,12 kg

Maximum load

18 kg

26

MO0121-1 version 3.4



3 SPARE PARTS

3.1 Part list for CoboShift tool changer P1181

Item | Description Part number Wear part Pcs

1 Fastening screw M6x25 MCG6S 6x25 12.9 4

2 Air sealings 10158 X 4
M0121-1 version 3.4 27



3.2 Part list for CoboShift manual tool changer P6018

Iltem | Description Part number Wear part Pcs
1 Fastening screw M6x25 MC6S 6x25 12.9 4
2 Air sealings 10158 X 4

28 MO0121-1 version 3.4



3.3 Part list for CoboShift signal module P1179 and P1189

Item | Description Part number Wear part Pcs
1 Spring loaded signal pin (P1179) 10154 X 8

1 Spring loaded signal pin (P1189) 10154 X 15
2 O.ring 11945 X 1

MO0121-1 version 3.4

29



3.4 Part list for CoboShift signal module P1193

Item | Description Part number Wear part Pcs
1 Spring loaded signal pin 10154 X 4
2 O.ring 10776 X 1

30

MO0121-1 version 3.4






robot system
l‘/sﬂouucts




